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2022р 1ршрЫ]шЬ Ш2(УШ1ршЬрш][1Ь ицшЬт1 /ш ]итН Ь 1р ВЦ.'1)/ Ьш/ушсрЬи^шд &ршдрЬр[1 
[т&йш Ь пщцпцушйр 2022р-/?& (1ршЦшЬшд1}Ь[ ЬЬ ЬЬррпЬуш[ ш2/УШ1ршЬрЬЬрр:

1. «1)ифтиф Нцд1щ)1|р[1 11и||ипш1| р1|ш1|шфц|р[1 ^шппЬифшв Ц. $Ш2|1р |эшрцд1шиЬр|1 
ср|ишф1р 6ш0шщшрИЬЬр|1, Фшр1|шрЬр Иил1щ|1ф[1 3-рр. фпг\пд(п 0. ЦЬгЖиЖдр рЪш 1|шс|.Ш]р|п 
«Ъпр фгиг[»-|1 1|Ыллрп1|ш1|ши бш1лии|шр1'ф иш[шр1|пи1 тгифт[ итр^ЬЬд^пО дршсфр: 
ЗЦ'Т1-т| вшфштЬифид итш^фЪ 6рш^р[1 1|штшр0ш0 гирдпр^и^р [прш1|шЪшдс[Ь[ Ь:

• Цьч[тлш1{ р1|щ1|Ш1(ш]р[1 Ьитп1ли1|ш1| Ц. Зш2|пр [эшрш11шиЬр|1 1|Ыипрп1)щ1|шв
6ш1|Щ1дшрИ1|Ьрр:
^ршсдф р^НиЖгир шрЗЬрр Цшс^ата I; 55 520 ООО «  р.ршф пр|пд 55%' 30 536 000 
«  Р-рилф' 1дЬтш1|ш1|, 45%' 24 984 ООО «  рди^р Нш^ирЬршфв вЬрр.ртл1и 1;:

• иЬп1ли^др____р1ли[|шфц)р|1 «Ъпр Я̂ гирц-ф 1{Ыллрп1яи^ш1| бш1лтдшр5р:
Сир-ИшЬтр 6рш^р|п шрсКфр 1]шд11пи1 I; 40 778 ООО «  р.ршф пр|лд 55%' 22 427 9 0 0 «  
Р-рид1р' а|Ьтш1^ш1|, 45%' 18 350 100 «  р.рил1р Нш111Ц|1фшф1| ЬЬрр.ртЛ| I;:

• Ь.шгфшрЬр_______________ р1ли1|Ш1[ш]р[1_______________ 3-рр._______________ фпрпдр:
^ршс|.р[1 р^рЬшОтр шрЗЬрр 1|шд11пи11; 27 100 ООО «  р.ршф пр(пд 55%' 14 905 ООО «  
р . р ш и ф и т ф ш ф  45%' 12 195 ООО «  р.рил!р Нил^шфршфв ЪЬрр.ртЛл 1::

2. «Фпрпд1|Ьр[1 шифш[тш11|Ш1Л11ш1] ш2фшиии1ф1|Ьр» и тр 1[Ы|д[1пв &ршср|пр: 
ЗЦф -п^ш ф ш тЬиф иб Ьр1|рпрр. 6ршсрр|п 1|штшр11ш1| гирдпр^илф [пршЦшЪшд1|Ь̂  I;

• Циф тиф  р1тфшф1ур[1 1фд.Ьишш1| [эшриякшф бш1лии|шрНр оршНЬгиид11ш11 
Иш11ш1|шд.ги[:
Фршдр^ рЬр-Иш^тр шрЗЬрр 1|шд11пи1 I; 59 880 ООО «  р.ршф пр|пд а|Ьтш1|ш1| 
ршсШЫшир 45%' 26 946 ООО «  р.ршф [пи1| Иил^шфршфир 55%' 32 934 ООО «  
р.ршф пр)пд 11 997 ООО «  р.р1Ы р  р.п1тр ^шд^ифЬрьцпр^ши 1|пр>фд :

• Ьтиш р^ тр__________р1|щ[|Ш1{1и|р|1__________1|Ыялрп1|ш1^ши_________ бш1яиа|шрНр:
Фршср-ф □Ъгр.ИшЪтр шр8Ьрр 1]шд11шЛ I; 15 502 200 «  р.ршф пр[пд 55%' 8 526 210 «  
р.рил1р' а|Ьтш1|ш1|, 45%' 6 975 990 «  р.рил1р Нш^шфршфв иЬрр.рпиЛ| I;:

• Ириш2пр__________ р1|щ[|Ш1|1Ц)р|1__________ 1]Ыялрп1ли1|ш1|__________ бш1яиа|шрИр:
Фршсрф □Ър.ИшЪтр шрЗЬрр 1{шд11гш1 I; 40 018 339 «  р.рил1, пр[пд 45%' 18 008 253 
«  р.рил!р' а|Ьтш1{ш1|, 55%' 22 010 086 «  р.рил1р Ни^шфршфв 1Фрр.рпи1и I;:

• 5Ыиифи1|______________________ р1|щ[{Ш1|1и|р|1______________________ 6ш1|ша{шрИр:
ОЬрИш^тр р]ги2Ы] I: 9 468 ООО «  р.ршф пр|пд 45%' 4 260 600 «  р.рил1р'
ифитфшф 55%' 5 207 400 «  р.ри^р Нш^шфршфв иЬрр-рпиИ] I;:

• &шр1|шрЬр р1ли1|шфд|р[1 ]-\)Ъ фпрпдпи! 1|итгнд1|Ь[ Ь дшр|т1|Ь НЫ)ши|шш:
Фршд.р|1 рвгфшитр шрЗЬрр 1|шд11гш1 I; 21 241 600 «  р.ршф пр|лд 45%' 9 558 720 «  
р.ри^р' ифтифшф 55%' 11 682 880 «  р.рил1р Нш^щфрщфй 1|Ьрр.ргш11| I::



3. «1)цфтиф Иш1кщ1ф[1 УшршИшрр рЪш 1 | ш р | п  4-рд фпдпдр, Цпшшгц^гир р1тфшфд)р[1 
дЬрЬдИиЛяиттХ! иии^пд, ЦЬгЛ|Ш1|ш1| рвш1|Ш1|ш|р|1 2-рд фпдпдр, &РШ2Ы1 р1ли1|Ш1|ш]р[1 7-рд 
фпдпдр, ]-\\Ь фпдпд[д р Ъ ш Цшр | п  дЬрЬд11ш1|шттй тш 1тд  фпдпдЬЬр|п 
иш[шр1|гш] 1лгифт[ и 2ршНЬпшд11ш1| Нии1ш1|шрд[1 ^шптдп^» итр^Ьид^пЬ дршд|пр: 
ЗЦ ГТ1-ги[1ли[1яи1лЬи1|ш6 Ьррпрд 6ршдр|1 1|штшр11ш1] т.ддтр]Ш 11р |прш1]ш1лид1|Ь[ I:

• ЦшршНшрр_____________ р1|ифшф-и|р|1______________ 4-рд______________ фпдпдр:
Фршдр|1 рвдИшЬтр шрсШрр 1|шц̂ и5пи1 I; 21 687 ООО «  дршф пр|пд 55%' 11 927 850 
ОС дрид!р' ифтифшф 45%' 9 759 150 ОС дрипф Иил1шфршф11 1|Ьрдрпи№ I;:

• Ь т и ш ^ т р ______ р1|щ1|шф1ур|1______д.ЬрЬд11ш1]штгии_______тщ 1тд______фпдпдр:
ОидИшитр 6ршдр|п шрс^рр ^шд^пи! I: 10 678 800 ОС дршф пр|1д 55%' 5 873 340 

«  дрилф' а|Ьтш1|ш1], 45%' 4 805 460 ОС дри^р Нил11и|1фшф1|1|ЬрдрпиЯ| I;:
• ЬЬп1ит[ши______________ рвифшф-ЩР^______________ 2-рд______________ фпдпдр:

^ршдр^ рЬдбшитр шрс^Ьрр 1{шд11пи1 I; 19 354 000 ОС дршф пр|пд 55%' 10 644 700 
ОС дрилф' 1дЬтш1|ш1|, 45%' 8 709 300 ОС дрил!р Нил11ифршфи ^Ьрдрпи11| I;:

• &рш2Ы 1________рЬш^ш1[ш]р[1________1ф1|________и_______ 7-рд_______ фпдпд^Ьрр:
Фршдр[1 р^дИш^гир шрс^Ьрр 1|шд11пи1 I; 20 842 ООО «  дршф пр[пд 55%' 11 463 100 
ОС дрилф' и|Ьтш1|ш1|, 45%' 9 378 900 ОС дрил!р Нш^цифршфв ЪЬрдрпи1Ъ I;:

• _______ риифшфд[р[1_______дЬрЬд11ш1литгии_______тш^пд______ фпдпдр:
Фршдр[1 р^дИш^тр шрс^Ьрр ^шд11пи1 I; 4 421 000 ОС драл!, пр[пд 55%' 2 491 550 ОС 
дрилф' и|Ьтш1|шф 45%' 1 989 450 «  дри^р Нш^ццфршфи ^ЬрдрпиЛ! I::

4. «Уифтиф Иш111ифр|1 Чш|э1ии2тр р1яи11шфд|р|1 шрдш^ш^ дп)1ш1шр1лЬрпи1 ш1и!ш1иидш6
дшфи1|1|Ьр|1 И|12Ш1Пш1ф Н т2шНш11шфр|1 1)шптдпп1, 1ГЬ6 'Лшри^ рЪ ш Ц ш 1|ш] р |п 1тр 
рЪ ш I) ш ил Ь г\|п |п Иш^ьифршфв иддт 1|шпт.дпи1» ит.р1|Ь11д[1пи 6ршд[1р
ЗЦГТ1-п1|иш[иш1лЬи1|ш6 ^пррпрд 6ршдр(1 1|штшр11шЪ тдд т^ илф  |прш1|ш^шд1|Ь[ I;

• Чш[э1аиот.р р1аи1|шф.и[рп1.[1 1|шпт.д1|Ь[ Ь трди^ ш ^  д^ш11шртЬрпи1 ш1и1шИшдш6 
дил[ш1|1]Ьр|1 И|12шиии1|[1 НтршНш^шфр:
&ршдр|п р^дИшитр шрс^Ьрр 1|шд11пи1 I; 42 240 000 «  дршф пр[пд 16 896 000-р' 
ифитфшф 22 344 000-р' Нш^ццфршфЬ и 3 000 000-р' дп1тр 11шд11ш1|Ьр1дп1|Э]шЬ 
Цпг̂ а̂ д:

• 1ГЬ6 ^ т р ^  р1яи1|шфд)рп1-11 [^шптдфд Ь Иш^ш^ршфв 1щд|1: 
&ршдр[1 р^дИш^тр шрс^Ьрр 1|шд11тх$ I; 26 028 000 ОС дршф пр[1д 40%' 10 411 200 
ОС дрил1р' ифтифшф 60%' 15 616 800 «  дрилф Иш^ццфршфЪ ЪЬрдрпиЛЪ I;:
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5. 1_1иф1лш1{ Нш11щ|1ф |1 11а)[илш1|, Ц-Р2^ пф т, $рш2ЬЬ, и.р1аи2пг\, СЫ|ил|ш11, Я-Ьршишр Ь.
р1ои1|Ш1|1и|рЬр[1 фпг\пдш]|пЪ [пшшфрги^шЬ шЬЬдпг\ Иил1ш1]шр^Ьр|п

ригиш^пиЬ и тр 1|ЬЪд|ппЪ бршсфр
ЗЦ'Т1-п1[ 11ш[иш1лЬи1(ш6 [фЪс^Ьрпрг} &ршс|.р[1 1|штшр11шв т ^ т^ ш ^ р  |прш1|шЪшд1|Ь[ I;

• Ци||нпш1| рЬш1|Ш1[1и|рп|Л 240 Ишт 1тр 1_ЕР [пш ш тт  и 235 Ишт 1т р НЫнищтв: 
СУршрр  ̂ р^р-ИшЬтр шрЗ-Ьрр' 42 600 ООО «  рриш!, пр д̂ 55%' 23 430 ООО «  г>рии1р' 
щЬтш1|ш1|, 45%' 19 170 ООО «  д.рии1[] Иш^ш^рщфи вЬрд.ргшЛ| I;:

• Цр§Ьпфт р1яи1|Ш1|ш]рпи1 20 Ишт 1т р 1_ЕР [пш ш тт Ц. 20 Ншт 1тр НЫлищтв: 
^ршс|р[1 □Ъд.ИшЪтр шрсКзрр 1|1жр1гш1 1; 2 880 ООО «  р-рии!, пр[лд 55%' 1 584 ООО «  
Р-рилУр' а|Ьтш1|ш1|, 45%' 1 296 ООО «  ррилУр Иш11ш|1ф 1и|[11| 1|Ьрр.рпи№ I;:

• &РШ2Ы1 р1|щ[{Ш1|ш)ргп1У 90 Ишт 1т р [_ЕР [пшидлт и 90 Ьш т 1тр ПЫлищтв: 
Оршдрф р1|р.Иш1т 1.р шрсШрр ^ик^пиУ I; 14 218 ООООС р.ридУ, пр|пд 55%' 7 819 900 « .  
ррилУр' и|Ьтш1|шй, 45%' 6 398 100 «  ррилУр НидУшДфшфв вЬрр.ргшУ11 (;:

• Цри.ш2пг1 р1|ш1̂ ш1[ш|рп|.1У 77 Ишт 1т р 1_ЕР [пш ш тт  и 3 Ишт 1т р НЫдищпйл:
^рш^р|п р1|П-ИшЪтр шрсКзрр 1|1Щ 1УпиУ 1; 7 394 100 ОС рридУ, пр[пд 55%' 4 066 755 ОС 
ррилУр' щЬтш^шЬ, 45%' 3 327 345 «  рри^р ЪЬргрртЛл I;:

• ЕЫ|Ш1|ш11 рЪшЦш рпи! 20 Ишт 1тр 1_ЕР [пшштги и 20 Ишт 1т р ПЫлищтв: 
йршф-ф рИ^НиЖгир шр8Ьрр 1|икр1пи1 1; 3 108 ООО «  ррилУ, пр|пд 55%' 1 709 400 «  
ррилУр' и|Ьтш1]ш1р 45%' 1 398 600 ОС ррилУр Ьш1Ущ|1||)иу|1Ь 1|ЬрррпиУ1| 1;:

• 9-Ьршишр р1|щ1)Ш1[шрпиУ 20 Нилл 1тр 1_ЕР [пшштги Ц. 20 Ишт 1тр НЫ|ши|т1|:
Фпрпдцифв [пшш1[прп1|Э|пЛ' рйр.Иш1т 1р ^икрУпиУ I; 3 204 ООО «  ррилУ, пр|пд
55%' 1 762 200 ОС ррилУр' ьцЬтш1|ш1|, 45%' 1 441 800 «  ррилУр Ншйщ|1фиу|11| 
ЪЬрп.ртЛ| I;:

• КЛ|[|П|ш1| рЪш^шфлрпиУ 20 Ишт 1тр 1_ЕР [пшштги и 20 Ишт 1тр ИЫлищгив: 
Ьршс|р[1 рйр.Нш1т 1р шрс^Ьрр 1|икрУпи1 [; 3 364 ООО «  придУ, пр(пд 55%' 1 850 200 «  
ррилУр' а|Ьтш1)ши, 45%' 1 513 800 ОС ррилУр Ншйиц1фщф1| 1|ЬрррпиУ1| I;:



6 . «11ифтш1| Нш111щ1ф |1 ЦЬпЬшфшв ришфшфиурпц! [ш1Ь[ги 2Р|̂  ^пр 2рш^6(1 1|шпгидпи1, 
ЬЬрр^Ъ дшЬдшфпргш!, -Ршршбпр рЪшЦшц[ш]р[1 [ш1Ь[ги 2р|п дш д̂|п [ипрт|ш1фЬр|1 1кии1ли1ф 
фЬршвп рифли], Я-пршрши р1|ш1|Ш1|1и|р|п [ш1Ь[т 2р|п ЪЬрр[пЪ дшЪд|п фЬрифитгидгиф 
С[1рш1|Ш15пил р1ии1|шфи|р[1 р|и[ 14, 16 фпрпд^Ьрф Чрши11пршр|п фпрпд[1 (ш1Ь[ги 2Р[̂  
2ршр6Ьр[1 Н[и11аивпрпс|.т.ф <ш ррш ф тр рЪшЦшь|_ш]р|п (ш1Ь[ги 2р|ч 2РшЯ-йЬр[1 фпфшр^пи! и 
шЦтЪрЪЬр|п фЬрш1трпф и 1Ь  и тр 1|Ыд|1п1| дршсфр:
ЗЦ^-пфвшфштЬифшб фЬдЬрпрр 6ршрр|1 1|штшр11шв тррпр^шфз (пршЦшЪшд1|Ь[ I;

• Циф тиф  Иш 5 р1л.и1{шф-и|рЬрпц1 (ИтЕлифшв. -РшршЙпр. 9-пршршЬ.
Ефрифш^тт, Сшррщсугнр) шЬд^шдфф Ь [т?Ь[ги ор!1 ^пр дрсид-бЬр: 
Оршрр|1 рЬрИшвтр шрс^Ьрр Цш^гшЛ 93 891 ООО «  рршф пр|пд 65%' 61 029
ООО «  ррилф' щЬтифшй, 35%' 32 861 850 «  ррил1р Нш^шфршфв вЬрррпиШ I::

7. «Пппр^шв Ншйшфшрсф фшпгидйиЖ Ц. фЬрифшшидйиЖ Ш2|иштш1ф1|Ьр>> игирфЬвд^пв 
бршсфр
ЗЦ.'П-пф вшфштЬифиб ̂ рЬрпрр дршрр|1 1|Ш1Лшр11шЬ п1ррпрэ]Ш11р |лрш^ш1|шдфЬ[ I;

• Цифижф 1шл1ш)1|р|1 9 рЪ ш Ц ш 1фш] р Ь р п и! (&шр1|шрЬр. Чшрвшдтр. 9-Ьршишр.
ЦщршИшрр. СЫиифш1|. [фишрпр. ЦрдИтЦип. Цшрцл1Ьо и 1-Ьгг1]шфшЫ 1цттд1|Ь[ Ц
фЬрш1трпдфЬ[ Ь ЪЬрр^Ъ___________ Ц. шрииир^_____ пппсфшв_____ дшЬд:
Оршрр(1 рЬрНшвгир шрс^Ьрр фшдйгш! I; 292 017 674 «  рршф пр|пд 70%' 204 412 574 
«  ррид!р' ифтифшф 30%' 87 605 100 «  ррил1р ЪЬрррпиЛЪ пр|пд
СЫнифшЬ рЬифифирр^ пппсркив Иил!ш1|1ирр|1 ^шптд^шЬ Ц. фЬрифшгггид^шв 
Ш2фш1Лш1фвЬр ит.р1|Ь&д[1п1| бршррпи! 1|штшрфЬ[ I; 1 450 ООО «  ррил! ^Ьрррпи! 
рпЬпр 1|шр11ш1)Ьр1ртр]ши ^прцфд, Фшр1|шрЬр рЪшЦш 1|ш]р[л пппр^шв Нш^ифшрцф 
Цшггтд и фЬрифшптд^шЬ ш2[ииллш1фвЬр итрфЫд[1п1| бршррпи!
1|Ш1ЛшрфЬ[ I: 4 302 ООО «  ррил! вЬрррпи! рп1тр Цш^^ьиЦЬрццт^шЪ 1|пр1фд, |пиЦ 
ЦпйлифшЪ р1л1фиф1щр(1 пппсрЯив НилЯи^шрдф 1|шпгнд1Яи1| и фЬрифшгиндйиЖ 
ш2[иштш1|риЬр итрфЫ|д[1п11 йршррпи! 1|Ш1ЛшрфЬ[ 1:15 770 ООО «  ррил! ЪЬррргшЛ:

• <[н11|шипрпрфЬ[ I БЫлифшв р1яи[{щфц[р|1 дЬп1Л^ррш1|1цф1| ор[Ыршрр:
Оршрр|1 рирЬшЬтр шрдЬрр фик^пи! I; 18 316 ООО «  ррил!, пр[пд 70%' 12 821 200 
«  ррил!р' ифтифшф 30%' 5 494 800 «  рршйр Иш^шфршфЬ ЪЬррртЛ| Ь



з и 'П Ф  ч . ь р щ № п м э б п к ъ

<ил1цф|э
/р1пфшфЧ|р/

2022р-ф (прш1{шЬшд4ш6 
йршфф шфшЬпцф

<ил1ифф 
ЪЬрг).рпи1 
/ «  д.рии1/

ФЬт. Р1П1-2Ф 
ЪЬрп.рпи1

/«ГртшЦ/

П-п1тр
^ифшфрщ

ЬЬрррпи! 
/ «  гриш!/

офиикф' 
6ршд.р[1 
шрсф / «  
ррил!/

11и|[илш1|
/1)иф1Л1ф,
ФшфшрЬр,
ЦЬп1лифд/

«Оифииф Нилкифф Оифииф 
рЬифифшф Ьилп1ифш1] Ц 
Зифр |ЭШг\1ш1шиЬр|1 сфлифр 
бш1лии)1ирНЬЬр[1) ФшфшрЬр 
Нип1ифф 3-рр. фпргф и 
Цткшфр рЪшЦши|.ш]р̂  «Ъпр 
сдт.п>>ф ф 1ллрп1ифиФ 
6ш1лии|шрЬ|п иш|шр1|пи1 тшфпф 
игирфффк бршсфр

55 529100 67 868 900 123 398 000

1)1ф тш 1|

ипшшг|р|гир>
11ри.Ш2пг\,
СЫлиф-Ф
ФшфшрЬр/

«Фпг[пдиЬр(1 
шифш[ти1и|Ш1Л111и11 
и12фшиии1фЬр» игирфффк 
бршсфр

66 813 356 67 299 783 11 997 000 146 110 139

Оифииф
/11ифиии1|,
ОшршНшрр,
Цпшшгдогир,
ЦтЬшфЛ,
йрш2ЬЬ,

«Оифииф Ьилкифф 
ОшршНшрр р1ифифшф 4-рр 
фпгуф, ипшшгу2|гир 
рЬифифшф (фр^йшйштшй 
тш1)пг[, ЦЬгйифшЬ 
рвифифшф 2-рг). фпг|пд[1, 
ЙршгЬи рЬифифшф 7-рр. 
фпрпдф 1-ф фпгуф, Гифп)ш1| 
р^ифифшф <фрф11ш1|Ш1Лги1| 
иии1тг[ фпрпдЬЬр̂  иш|шр1|П1л1 
тпф ф  и 2Рш Ь̂пшд11ши 
Нил1ифшрсф 1)шпгидпиЬ 
игирфффЬ йршсфр

34 582 260 42 400 540 76 982 800

Оифииф 
/Чшфи^тр, 
1ГЬЬ Фшрф/

«Оифииф Нилкифф 
Чшфи^гир ркифшфиф 
шрдифшЪ фТ|Ш1киртЬрпи1 
шМшНшдшй |фшЦЪЬр[п 
ф2Ш1Лш1ф Нги2шНидкифр|1 
1|шпгидпи1, ОЪй П1шр1ф 
р1пфшф|ф ипр рЪифилпЬфф 
Нил1ифршфЬ щсри фтидпи!» 
игирф1фп1| йршсфр

37 960 800 27 307 200 3 000 000 68 268 000
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1)иф1лш1)
/11ифтш1|,
ЦрзИпфт,
Йрш2Ьф
11р11Ш2пг[,
СЫяифшЬ,
9-Ьршишр,
КЛфгушЪ/

11иф1ти 1| Иш и̂̂ Ъ̂д(̂  1)иф1лшф 
Ир2Ьпф т, Йрш2Ы|, ир11Ш2пг[, 
СЫлифдЖ, 9-Ьг\шишр и 
■̂иЧ̂ шЪ рЪшЦшЦ.ш]рЬрЧ 

фпрпдшфи [Пшш1|прп1.|Э|шв 
д.п)ги|Э)т.1| тЬЬдпг̂  
Ьил1ифшрсфр|п рЬп-^ п̂и!» 
итр1[ЬЪд(1пЪ бршц-Чр

34 545 645 42 222 455 76 768 100

Оифиииф
Цтишф-иЬ,
-РшршЙпр,
4-пц.шрши,
СфрифидЬил,
<шр[эшсцгиг\/

«ШсцЧ 1лшЧ Иш11ш]ЪрЧ Цзп1иш|ш1] 
р1|ш1|Ш1|ш|рпц1 |ш1Ь|П1. 2ПМ П̂Р 
2ршц7ф 1|шши.дпи1> ЪЬррЧ̂  
дшЪдил[прп|Д -ЯшршЙпр 
рЪифилфщр̂  [глШри 2РЧ дшЪдЧ 
фпг|пфи1фЬр|1 11ши1ии1ф 
фЬрш1трпс|.пи1> 9-пс}.1иршЬ 
р1ли1̂ ш1|1Ц]р[1 [ш1Ь[ги 2РЧ ЬЬрр[л1| 
дшЬд[1 фЬрш̂ шшидпи!, 
СфрифинМт рЬш1)Ш1[ш]р[л р|и[ 
14, 16 фпрпдЬЬрф ЧршиЬпр.шр[1 
фпг\пд|1 |-и15Ь[П1 2р[л 2Ршс1-̂ Ьр[п 
И[пЛ|ш1трпс1.тф <шрршц|гиг]_ 
р1ли1|шфц|р̂  [ш1Ь[ги 2Р11 
2ршсфЬр[1 фпфшр[п1ти1 и 
шЧгиЪдЪЬрЧ |-[ЬршЬпрпд.пи1» 
итр1|ЬЪд[1пи бршсфр

32 861 850 61 029 000 93 891 000

Оифтиф/
*Лир1|шрЬр,
Чш[эЬш2тр,
9-Ьршишр,
ОшршНшрр,

Ц.р11Ш2пг|_,
ЦрзИпфт,
11шрш11Ь2,
иьпиш1|шь,
сылифии/

«Пгтр.1ЛшЪ Нил1ш1|шрсф 
Чшпгид̂ шЪ и фЬрш1|ШГ1П1.д11ш11 
ш2|иштш1ф1)Ьр>> игирфЬд п̂в 
бршсфр

71 577 900 217 233 744 1 450 000 

4 302 000 

15 770 000

310 333 674

у^зич оигизъ-Р  ̂п.ьчцщдпг» и. 1шгэ-п1)зиъ
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